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° FYT Fig F T fF 39 geT-uA § FRT gO 15 T
g97 21 &

Please make sure that the printed pages in this
question paper are 15 in number and it contains
21 questions.

° To7-yF H e & @l SN 7 T4 FE T_T T G FH
5 TUT-gia# % §e-9% 97 g
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

® YT J97 F FV @ J& H07 @ e, FIT H FHE
T [7g)

Before beginning to answer a question, its Serial
Number must be written.
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o JTT-giaH % &% 4 @il G/ T 8ig)
Don’t leave blank page/pages in your answer-book.

o FUTC-gRGE % Slandd @ o4 de TE el o
SEPTEATEr & g it frar e 7 @2

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o ghereff 1T T To FIT-UA T 39T [or@)

Candidates must write their Roll Number on the
question paper.

o U 497 T FT &7 @ g9 98 GrREd &1 o & Je7-0
g7 7 7@ & Y % Iy 54 a9 F #HE A @
@B Tel AT ST

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

A 3T -
(i) TTT 7 5T 21 597 &
(ii) & 5T a8
(iii) §7W1 F1-1 o/ % HGE (i-xiv) TGS F97
/
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(iv) o7 G@r 2 @11 T% Gy FT09 Fo7 & T T9%
797 2. 37 H 8

(v) Fo7 G 12 @ 18 7% T Fa0q Fo7 & T J9%
797 3 S T 81

(vi) 797 FET 19 @ 21 7F § FTIT 597 & T 9%
I 5 37 H 8

(Vi) J97- 77 & T &7 @ FS [AFeT 78 81 FMT 5 FH
g Al gea & ople 97 FarT B T & 0F
g7 H & oy BT W gqT T @ a7 & & F97

T &1

(viii) DAY % TTENT F STFHT T & AT &7 T,
TGTTHT I T 5T [T ST 7ee 81

(ix) & SFsTeE & ST H=rd daw HadE & Je
P T FC THT & -
c=3x10%m/s o =41x10~ " Tm A~}
h=6.63x103%JS — 1 —9x109Nm2C2

47560

e=1.6x10"19¢C m, =9.1x107°! kg

General Instructions :
(i) There are 21 questions in all.

(ii) All questions are compulsory.

4328/(Set : D) P.T.O.



(4) 4328/(Set : D)

(iii) Question number 1 consists of fourteen (i-xiv)
objective type questions each of 1 mark.

(iv) Question Numbers 2 to 11 are very short
answer type questions and carry 2 marks
each.

(v) Question Numbers 12 to 18 are short answer

type questions and carry 3 marks each.

(vi) Question Numbers 19 to 21 are long answer

type questions and carry 5 marks each.

(vit)There is no overall choice. However, an
internal choice has been provided in all three
questions of S5 marks each. You have to
attempt only one of the given choice in such

questions.

(viii)yUse of Calculators is not permitted, if

required you may use logarithmic tables.

(ix) You may use the following values of physical

constants whenever necessary :

c=3x108m/s o =41x10~" Tm A™!

h=6.63x10734JS L o 9x109Nm2C2
47[60

e=1.6x10"19¢C m, =9.1x1073! kg
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[ a5 |

[ Objective Type Questions ]

1. () Uh FO A€M H THT .o, Ige Bld
gl 1
There are about .............. electrons in a

charge of -1 coulomb.

(i) & WA & AA FW dd GG I B THA Bl
g 1

(A) TN
(B) I&TE
(C) ufaeta
(D) ST & & HiE et

Nature of electric force between two protons

is :

(A) Attractive
(B) Neutral
(C) Repulsive

(D) None of the above
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(iii) STAST T GIRAT & & § T €A § Ghad ot &
ot foiEm) 1

Write the expression for energy stored in a

capacitor in terms of charge and capacitance ?

(iv) T T % AR & &% | gha & Y IHh
gfcRIgRaT 1

(A) 9¢ Sl B

(B) g€ S ©

(C) §¢ a1 9T THA §
(D) I & & ©

With the increase of area of cross-section of

a conductor, its resistivity :
(A) Increases

(B) Decreases

(C) May increase or decrease
(D) Does not change

(v) S @6 5 kQ & Ug®s & 0 & 7989 5 V #
fvaioR @1, o SEH | fehal fagq O S B 7 1
How much current flows through a 5 kQ

resistor when a potential difference of 5 V is

applied across its ends ?
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(vi) -1 e yafd g Rl werd @ e
geenelierar feberl 8 7 1
What is the relative magnetic permeability of
a substance whose magnetic susceptibility

is-17?
(vii) fefeeeen & dar FfdEEEl & T W & T BE-a
frgq-geaa fafeer sanT fen o & ? 1

Which electromagnetic radiation is used in
medicine to destroy cancer cells ?

(viii)fhHeh HS HI GAY H WD HISA FEl S
g7 1
(A) gHEq
(B) XIS
(C) T Sl
(D) AR

Whose model of atom is also called nuclear

model of atom ?
(A) Thomson
(B) Rutherford
(C) de Broglie

(D) Bohr
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(ix) 98 TF TR B Th ac Ad T el T &, @

dicedr oY a1 & %9 o= & : 1
(A) 90° (B) 45°
(C) 180° (D) 0°

Phase difference between voltage and current
when an ac source is connected to a

capacitor :
(A) 90° (B) 45°
(C) 180° (D) 0°
(x) AT H HH-T1 T5F 1 & U TBE B
SER & § 7 1

1 Decay per second are equivalent to what
unit of radioactivity ?

(xi) TIT H FFH GREeT & HROT SR Al Q@R

a7 1
(A) & (B) frad=

(C) FahIvie (D) STge

Sky seems blue due to which phenomenon of
light :

(A) Dispersion (B) Diffraction

(C) Scattering (D) Refraction
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(xii)TH HY 4T B & ZEMK e TR H O il
g7 1

What is shape of a wavefront around a

straight line source ?

(xiif)TE e AT H AW SAEC A dieedr FEsew
% ®Y T IR A S Eehel § 7 1

Name a semiconductor device which can be

used as a voltage regulator ?

(xiv)T%H Iaele GaR Fae § SRR &’ B
A ® ? 1

What a receiver does in an electronic

communication system ?

[ foeyg ST 99 |
[ Very Short Answer Type Questions ]

2. 4 pF, 8 pF T 12 pF &IRar a9 e wgdshy
T SIg U B A G @ 150 V $ d@9Wr 4 SiE §,
A U HHIRA UX A 1T Hifod| 2

Three capacitors of capacitances 4 pF, 8 pF and
12 pF are connected in parallel. Determine the
charge on each capacitor if the combination is

connected to a 150 V supply ?
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3. m 3 from @ #F g 9 fafau 2
Write any two limitations of Ohm's Law ?
4. Hax et @ ;1 AREE B ? 2

What do you understand by Eddy Currents ?

5. daiia giE & 2 7 SR & o # T IREE
gfemErd & e @ deifee ® 7 2

What is capacitive reactance ? How it is related
to inductive reactance at resonance ?

6. U% AW 3 MHz § 6 MHz % & fhdl Ry 4 q0@Rd
B Gl 31 G aUIRE S8 T BNl 7 2

A radio can tune into 3 MHz to 6 MHz frequency
band. What is the corresponding wavelength
band ?

7. T% 0.050 kg Z@H & g S 2.0 km/sec @l =
T I T ¥, B S e qiesd b &nm ? 2

What is de Broglie wavelength of a bullet of mass
0.050 kg travelling at a speed of 2.0 km/sec ?

8. OFIHE SIS & H STERYA Aehid SR T el o
“WNa % 70 w3 R R B wie e 2

What is basic nuclear process underlying
B* decay ? Write nuclear reaction equation of

this decay for ??Na.
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10.

11.

12,

(11) 4328/(Set : D)
T el &1 aRuer s=Ey o 3o fasr g g

gicedl & a3y 9 §9RU 2

Draw the circuit diagram of a half wave rectifier
circuit and input and output waveforms of this
rectifier.

T T qRUY @ g aieel faraq 2

A
B Y

Write the truth table for given circuit.

A
B Y

Hiegge A F1 SAWE & 7 3HE A UER © 7 2
What do you mean by modulation and what are

its types ?

[ @Y STE 999 ]
[ Short Answer Type Questions ]

TieH H@aw F1 Bl & 7 59 STARRA H UH Sae
g TH IF farau 3

What is nuclear fusion ? Write its one example

and one use of this reaction.
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13. UF QU g yhial Hadl gard & foq afod fafeeer @
MRy & FRE fawa & aRaas @i e St 3

Describe the variation of stopping potential with
frequency of incident radiation for a given
photosensitive material.

14. JHI A foaaq @1 B ? Uha B0 fGadw & At
A NG S9ET 3

What is diffraction of light ? Draw diagram for
single slit diffraction arrangement.

15. T% g8 L-C-R 9RUy, Rfigd R = 42 Q, L = 4 H
X C = 100 pF &, ® TF Ul ghd 210 V ac
YR & ST T B TS H TRl § FHNg ST,
SfcTeT T G 1 IO it 3

A series L-C-R circuit with R =42 Q, L = 4 H and
C = 100 pF is connected to a variable frequency
210 V ac supply. Calculate angular frequency,
impedance and current at resonance condition.

16. URAIGH F1 St B 7 UH @l URANG & BRI
fpT gedig &5 BT © ¢ 36 8 @ RS a4 S| @l
S 2 7 3

What is a Solenoid ? How much magnetic field is
due to a long solenoid ? How its direction is
determined ?
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17. U fawemdt & R & 9ol i) 0 8 & STiai®
JfeRlg % G I AHihd IRIY ARG SEU 3

Explain the principle of a potentiometer. Draw a
labelled circuit diagram to determine internal
resistance of cell.

18. T% o= TR d THEHN AR aX & 99 i%ﬁg?r
&5 ST it

Determine electric field intensity near an

infinitely long straight uniformly charged wire.

[ ST 9 ]

[ Long Answer Type Questions ]

19.@33@%%%WWWW|@EW
qEE W $8 FR e & ?

Explain Domain theory of ferromagnetism. How
ferromagnetism depends upon temperature ?

AYAT
OR

T I FoSdl Ieadmie & s @ aviE Hie 38
% dicediel § 39 gRakid fkar o dar & ° 5

Explain the principle of a moving coil
galvanometer ? How it can be converted to a
voltmeter ?
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20. S P AT T BT & ¢ T & WA ST gAvT el
TR & SO ERT AT i HiRr e Hifom) 5

What is polarization of light ? Briefly discuss
polarization by reflection and polarization by
scattering of light.

AYAT
OR

frdl g gemesll # ufafde s @ Tmifed B
AME TN B oTEdN T B uReia  HifTu
g% fou o fofag 5

Draw a labelled ray diagram showing the
formation of image in a compound microscope.
Define its magnifying power and write expression
for it.

21. T p-n-p SNEX & SHAMS Seeid (CE) fo=mg ®
JfverEes & otege & fog aRuY oIR@ sWIRU 39
g § zoe fag qw fria ofheele & @49
gifgu Ay g Frig g gk S| 5

Draw a circuit diagram to study characteristics
of a p-n-p transistor in CE (Common Emitter)
configuration. Draw the sketch of input and
output characteristics of this configuration.
Define input and output resistances.

4328/(Set : D)



(15) 4328/(Set : D)

ST

OR
IS I (CE) TiTeX Jads & dEae &
TRUY STRY T TR 5

Explain the working of a CE (Common Emitter)
transistor amplifier using circuit diagram.
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